
VIDYA BHAWAN BALIKA VIDYA PITH  

   CLASS –  5                          DATE – 02. 11 . 21 

  SUB- MATHS                        C. T – PRAGYA  

BASED ON N.C.E.R.T PATTERN 

                       CH -    VOLUME 

• CAPACITY AND VOLUME ARE SIMILAR  . 

     2 litre = 1000ml  =1000cm3 

     1ml    = 1cm3  

Remember  :   1cm3  = 1 ml ,  1m3  = 1000 L 

1m3 = 100 cm3 

 1m3  = 100cm × 100cm × 100cm / 1000 Litres 

             =  1000 L 

C.W – Ex – 20 B   Q .no – 1 , 2 , 3 and 4 

H.W -  Ex – 20 B    Q .no – 5 to8    
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